



$$\begin{aligned} \textcircled{2} \quad N1 &\Rightarrow i_S - i_1 = 0 & N2 &\Rightarrow i_1 + i_2 - i_L = 0 \\ \textcircled{3} \quad V_S + v_1 - v_2 &= 0 & L2: &\Rightarrow -v_2 - v_L = 0 \\ L1: & & & \\ \textcircled{4} \quad -V_S &= v_S, \quad v_1 = i_1 R_1, \quad v_2 = i_2 R_2, \quad v_L = i_L R_L \end{aligned}$$

$\Rightarrow$  8 eq'ns & 8 unknowns.

1<sup>st</sup> subst.  $\textcircled{6}$  into  $\textcircled{3} \Rightarrow -V_S + v_1 - v_2 = 0 \quad (1)$

subst.  $\textcircled{6}, \textcircled{7}, \textcircled{8}$  into  $\textcircled{2} \Rightarrow \frac{v_1}{R_1} + \frac{v_2}{R_2} - \frac{v_L}{R_L} = 0 \quad (2)$

subst  $\textcircled{4}$  into  $(2) \Rightarrow \frac{v_1}{R_1} + \frac{v_2}{R_2} + \frac{v_2}{R_L} = 0 \quad (3)$   
rearranged to  $v_L = -v_2$

Solve (1) for  $v_1$  & subst. into (3)

$$v_1 = v_2 + V_S \quad \Rightarrow \quad \frac{v_2 + V_S}{R_1} + \frac{v_2}{R_2} + \frac{v_2}{R_L} = 0 \quad (4)$$

solve (4) for  $v_2$

$$v_2 \left( \frac{1}{R_1} + \frac{1}{R_2} + \frac{1}{R_L} \right) = -\frac{V_S}{R_1} \Rightarrow v_2 = \frac{-V_S R_1 R_2 R_L}{R_1 R_2 R_L + R_1 R_L + R_1 R_2}$$

take lim as  $R_L \rightarrow \infty$  to check:

$$\Rightarrow v_2 = -V_S \frac{R_2}{R_1 + R_2}$$